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The Hornbill festival” is a celebration held every year from to __ in
Nagaland. '

(AJ ;1% to 10t December (B) 21t to 315t December
(C) |15 to 10t January (D) 21% to 30t January

Which of the following tributaries of the Ganga river flows northwards ?
(A) |Gomathi (B) Kosi {C) Son (D) Gandak

In the sequence1,5,7,3,5,7, 4,. 3, 5, 7 how many such 5s are there which are not immediately
preceded by 3 but are immediately followed by 7 ?

(A) 1 (B) 2 © 3 | D). 5

A higiher concentration of ethylene is found in :
(A) Green apple (B) Green banana
(C) Fresh potato tuber (D) Ripe banana :

The chief source of material to study the Harappan culture is ;

(A) Inscriptions

(B) Literature i

(C) Earthly material or broken instruments remains of city planning found at sites.
(D) \klumismatics ‘ |

Whi(:hI of the following states has largest coastline ?

(A) Kerala (B) Gujarat (C) WestBengal (D) Tamil Nadu
The Fifst Lok Sabha session was held on :

(A) March 31, 1952 ' (B) May 10, 1952

(C) May 12, 1952 (D) May 13, 1952

“Famine Code’ in India was Formulated in the year :
(A) 1880 (B) 1881 (C) 1882 | (D) 1883

In the context of India, which of the following principles is/ afre implied institutionally in the
parliamentary government ?

() Member of the Cabinet are Members of the Parliament.

(ii) inisters hold the office till they enjoy confidence in the parliament.

(i) binet is headed by the Head of the State.

Select the correct answer using the codes given below :

(A) ()and @)  (B) (iii)only (© Gand @) (D) () (@) and ()
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Identify the Indian ruler who used to conduct a religious congregation |for every five years at
Prayag : '

(A) Ashoka - (B) Kanishka i

(C}) Samudragupta (D) Harshavardhana

Wi - Fi in computers stands for :
(A) Wired Fields (B) Wiral Fixes
(C) Wireless Fidelity , (D) Wired Fix

Find the arithmetic mean of the following numbers :
—5,12, 24, 46, 60

(A) 24 - (B) 23 (C) 274 (D) 28
|

Eastern Ghats does not make a part of which of the following states 7

(A) Andhra Pradesh (B) Tamil Nadu -‘

(C) West Bengal (D) Odisha

Qutubminar was built at Delhi in the memory of :

(A) Kwaja Nizamuddin (B) Kwaja Qutbuddin of Bagdhad

(C) Kwaja Magbool Lahoeri (D) . Manoor Qaki

What connects your muscles to your bones ?
(A) Cartilage (B) Tendon (C) Ligament (D) Skin

The number of spinal nerves in a human being are :
(A) 30 pairs (B) 45 pairs (C) 21 pairs - (D) 31 pairs

Which of the following committee has been constituted for doubling farmers’ income
by 2022 ?

(A) Ashok Mehta (B) Rakesh Mohan
(C) Ashok Dalwai (D) Ashok Gulati
Which one of the following Islands is closest to the equator ?
(A) Great Nicobar (B) Minicoy

(C) Little Andaman (D) Rose Island

Iodized salt is used to treat :

(A) Anaemia (B) Rickets (C) Typhoid (D) Goitre

India is currently ranked 1% in terms of production.

(A) Wheat ~ (B) Jute (C) silk (D) Cotton
|
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The Pﬂﬁsh political officer killed in Khonoma war in 1879 was :
(A} 'Butler (B) Capt. PJ. Maitland

(C) G.H. Damant (D) Captain Vincent

As pér the 2011 census, the district with highest population in Nagaland is :
(A) |Mon (B) Kohima (C) Tuensang (D) Dimapur

Which one of the following tribes is not recognised officially by Nagaland Government ?
(A) |Zeliang (B} Angami (C) Lotha (D) Kuki

Which article of the Constitution deals with Grama Sabha ?
(A) Art 243 P (B) Art 243 D (C) Art. 243 A (D) Art. 243 C

The word “Naka” in Myanmarese stands for :
(A) pierced ears (B) intelligent (C) innocent (D) farmers

Arrange the following associations in chronological order according to the year of their
foundation. |
() Indian Association Calcutta |
(if) Madras Mahajana Sabha

(ii) Bombay Presidency Association _
(iv) Pune Sarvajanik Sabha |

Codes :

(A) @), (), @) @) ®) (), i), (), @

© G (i), @), () (D) (), ), @), ()

Who founded the Revolutionary Association named ‘Abhingv Bharat’ ?

({A) SK Roy (B) S.D. Kalekar (C) Bhagat Slingh (D) V.D. Savarkar
Which among the following states has largest forest cover m India ?

(A) Arunachal Pradesh (B) Madhya Pradesh

(C) Chhattisgarh (D) Odisha

Which one of the following is not a mosquito borne disease >
(A) Dengue fever (B) Malaria ©) Goitre | (D) Filariasis

Which one of the following is the victory dance of the Lotha tribe ?
(A) Rangma {B) Rukhyo-Sharu (C) Akok-khi (D} Angushu-Sharu

Which molecule is inherited by the next progeny produced by parents ?
(A) DNA (B) mRNA (C} RNA (D) GNP
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40.

41,

42.

43.

The chief function of lymph nodes is to :
(A) Produce Hormones (B) Produce WBCs
(C) Desiroy Pathogens (D) Destroy Old RBCs

' Garamati is the highest peak in the state of Nagaland with a height of :

(A) 4221 m (B) 3661 m (C) 4841 m (D) 3841 m

This is the rich source of Vitamin-C.
(A) Guava (B) Amla (C) Cabbage (D) Eggs

Each face of a cube can be painted in black or white colours. In how many different ways
can the cube be painted ?

(A) 9 (B) 10 (C) 11 (D) 12

Rolling Plan was designed for a period : -
(A) 1978 - 83 (B) 1980 -85
(Cy 1985 -90 (D) 1974 -77

What is the order of magnitude for 63.2 X108 ?
(A) 6 (B) 7 © 8 D) 9

Which one of the following states are not a border state of Nagaland ?
(A) Assam (B) Manipur
(C) Arunachal Pradesh (D) Sikkim

Who was the author of a famous book entitled ‘Agrarian System of Mughal India’ ?

(A) KS. Lal (B) J.L. Mehta (C) Moorland (D) Irfan Habib
Kohima was originally known as :
(A) Khon-wa (B) Kotiga (C) Kewhi-ra (D) KXhonama

Which one of the following is not a greenhouse gas ?
(A) Methane (B) Nitrogen (C) Carbon dioxide (D) Nitrous oxide

Which of the following district of Nagaland does not share boundary with Myanmar ?
(A) Mon (B) Wokha (C) Kiphire (D) Tuensang

Which of the following has a potential for harnessing “Tidal energy’ in India ?

(A) Back Waters of Kerala (B} Pulikat Lake
(C) Gulf of Cambay | (D) Gulf of Mannar
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Brass is an alloy of : _ '
(A) Copperand Tin (B) Copper and Zinc
(C) :Zinc and Tin _ _ (D) Lead and Tin

Which among the following is India’s largest coal field ?

(4) Jharia (®) Singrauli (©) Singareni D) Ranigan]

Velocity of light is maximum in : ' : _ -
(A) 'Water (B) Glass (C) Vacuum (D) Air

Who was known in the history of Indian Medical Field as the ‘Father of Surgery’ ?
(A) Susrutha (B) Aryabhatta Q) Vatsayana (D) Charaka
Who led the 1857 mutiny of Faizabad ? |
(A) :Waziullah (B) Ahmadullah!
(@) ;Begum Hazrat Mahal - (D) Nana Saheb

Who was the philosophical teacher of Mauryan emperor Chandragupta Mauxya ?
(A) |Ashwagosha (B) Kalikutta Q) Bhadrabahu (D) Somadeva

The percentage of Christian population in Nagaland as per the 2011 census is :
(A) 93.42 (B) 100 (C) 74.62 | (D) 8793

The sun generates energy from a process called : o I _
(A) Nuclear ﬁssmn (B) Pyrolysis <) Nuclea:: fasion (D) ' Combustion .

Which district of Nagaland is known as the “Land of handlcraﬂ’ ? _
(A) Kohima (B) Tuensang (C) Kiphire: (D) Dimapur

Identify the Muslim leader under whose leadership the Muslim delegatiori met the Viceroy
Lord Minto. |

(A) HH. Agakhan (B) Md. Igbaal

(C) Md. Ansari - (D) Mohammad Al Jinnsh

Inan xanunatlonAhasscoredZOmarksmoremanB IthasscoredS%lessmarks&uanA

. how much has B scored ?

(A) 560 (B) 380 € 400 (D) 420
’Gath%asapthasathi’ the famous work of Satavahana age was written by

(A) Hala | (8) Srimukha .

(C) Satakarni II . (D) Yagnasri Satakarni
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64.

Which one of the following is the largest portion of the brain ? -
(A) Medulla (B) Cerebrum - (C) Oblongata (D) Cerebellum

Which.type of soil is best suited for cotton ? _
(A) Black (B) Clayey (C) - Sandy (D) Loamy -

Kohima became the headquarters of the Naga hills on :
(A) 1%t Nov.1963 (B) 1%t Dec. 1963 (C) 15t Dec. 1967 (D) 1%t Nov. 1965

Thesugarfou.nd'inmi]kis:
(A} Fructose (B) Lactose (C) Maltose (D) Glucose

The pH of pure water (neutral) is :
A) 9 _ B) 7 C) 12 . (D) 5

During the reign of Pallavas the Kanchipuram was a famous ‘Ghatika’, what does the term
Ghatika really mean ? '

(A) Educational centre (B) A Buddhist Sanga
(C) A guild of Craftsmen (D) A guild of Traders '
Diezephe craft village is located in district. ‘
(D) Kohima

(A) Mon (B) Kiphire (C) Dimapur ..,

Match the. following : 5

() Garampani Wildlife Sanctuary () Madhya Pradesh
() Gomardha Wildlife Sanctuary (i) Rajasthan

(c) Kanha National Park (i) Assam

(d) Rathambore National Park (iv) Chhattisgarh
(A) (@), b-Gv), ©-G), [@-6)

B)  (a)-(ii), (B-v), (-0, (@)-(iD)

(©)  (a)-v), (b)), (0)-(i), (d)-(ii)

D) (@)-v), ()-(i), ()-(i), @-6)

Consider the following statements :

(i) The highest criminal court of the district is the Court of District and Sessions Judge.

(i) The District Judges are appointed by the Governor in consultation with the High Court.

(iii) A person to be eligible for appointment as a District Judge should be an advocate or
Pleader of seven years standing or more, or in office in judicial service of the Union or
the state. : : '

(iv) When the Session Judge awards death sentence, it must be confirmed by the High

~ Court before it is carried out. _ :
Which of the following statements given are correct ?

(A) (i) and (i) (B) (i), (iif) and (iv)
(C) (iid) and (iv) - (D) (@), (i), (ii) and (iv)
7 : SCSP-21
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65. Jijabai, the mother of Chatrapathi Shivaji was related to the ruling dynasty of :
(A) Yadavas (B) Hoyasalas (C) Pandyan (D) Bhosle

66. Which of the following is the most conductive element ? ‘
(A) TIron (B) Silver {C) Mumum (D) Copper
!

67. Consider the following statements :
At'toi:ney General of India can :
()  Take part in the proceedings of the Lok Sabha
(i) Be a member of the committee of the Lok Sabha
(i) Speak in the Lok Sabha |
(iv) Vote in the Lok Sabha
Wluch of the statements given above is/are correct ?
(A) () only B) @and@v)  (O) () @ and () (D) ()and (i)

68. URL in Computers stands for :
(A) Uniform Resource Locator (B) United Repurpose Location
(C) Uni Rainfall Locator (D) Umbrella Resource Locator
|
69. ‘The shop of Bead-makers’ was discovered during the excavations at :
(A) Lothal (B) Kalibangan () Chanhudaro (D) Ropar

70, Whlcl} one is not a unit of time ? ’
(A) Second (B) Hour (C) Year (D) Light year

71. The iritensity of earthquake is measured on : .
(A) Richter Scale (B) Nomial Scale
(C) Original Scale (D) Ratio Scalé |

72. In Wl'l.lCh case did the Supreme Court pronounce the judgement for the first time that the
"basic structure” of the constitution cannot be amended by Parliament ?

(A) Shankari Prasad case (B) Golaknath case
(C) Kesavananda Bharati case (D) Minerva Mills case

73.  The shape of DNA is called :
(A) Hexagonal (B) Octagonal (C) Double Helix (D) Triple Helix
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79.

80.

81.

82,

Which of the following are true of the provisions of the 74th Amendment Act on
municipalities ?

(i) Wards committees, for wards with population of two lakhs.

(i) The State Governor may authorise them to levy, collect and appropriate taxes.

(i) A municipal council for small urban area.

(iv) The twelfth Schedule contains 20 functional items for the municipalities.

(A) () (i) and Gv) (B) () @and (v) (C) (i) only (D) (iii) and (iv)

The most important item of Naga dress is the :
(A) Towel (B) Shawl (C) Shirt (D) Kurta

Which of the following oil is not a seed oil ? :
(A) Groundnut (8) Palm (C) Soyabean (D) Sunflower

Who started an organisation called ‘KHUDAI KHIDMATGARS' during the period of Indian
National Movement ?

(A) KM. Munshi () Md. Igbal
(C) Khan - Abdul - Gaffar Khan (D) Sayyed Ali

The rate of photosynthesis is not affected by :
{A) Light Intensity (B) Temperature
(C) CO, Concentration (D) Humidity

Who was the founder of South Indian Brahmo-Samaj started in the year 1871 CE ?

(A) Narayan Ganesh (B) R.V. Naidu
(C) Sreedharlu Naidu (D) Veereshalingam
NRLM stands for :

(A) National Rural Livelihcod Mission

(B) National Rural Literacy Mission i
(C) National Literacy Mission 1
(D) National Local Mission

In a group of 15 people 7 can read French, 8 can read English, 3 of them can read neither of
these two languages. The number of people who can read exactly one language is :

(A) 10 (B) 9 € 5 D) 4

The famous book “Arthasastra’ of Kautilya was translated for the first time into English by :
(A) Nilakanta Sastri (B) Bhimsen Sastri T
(C) Roopesh Chandra (D} R. Shyama Sastri

9 SCSP-21
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89,
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91.

Who became the Prime - Minister of England in the year 1880 after the defeat of conservative
party led by Isareli ?

(A) Gladstone (B) Rippon (C) Churchill (D) Marshall
Moatsu is a festival celebrated by the Ao people in the first week of every year.
(A) December (B) January (C) May i (D) July

The main occupation of the Nagaland people is : ‘

(A) Agriculture (B) Trading (C) Fishing (D) Weaving

The basic structural and functional unit of brain is : I

(A} Spinal cord (B} Nerve (C) Nephron (D) Neuron

Who was the recipient of the 17" Governor’s Award 2019'in “Literature * in Nagaland ?
(A) Charles Chasie (B) Hari Prasad Gorkha Rai

(C) Madhav Gokhale . (D) Monalisa Changkija

Match the following : _ :

(@) Idukki Dam () Krishna River

(b) |Tehri Dam (i) Mahanadi River

(¢) |Almatti Dam (i) Periyar River

(d) [Hirakud Dam (iv) Bhagirathi River

(A) (@)-(i), (b)-G), (c)-(iv), (d)-(i)
(B)  (a)-(id), d)-(iv), ()-(i), (d)-(ii)
Q) (@-(ii), B)-(iv), (c)-(i), (d)-(i)
D) (@-G), ®)-), (c)-(id), (d)-(ii)

“Dimapur Kalibari” is a famous in Nagaland.

(A) ‘Church (B) Masjid (C) JainTemple (D) Hindu Temple
thch among the following beaches are located in the coromandel coast ?

(A) Marina Beach (B) Golden Beach

(C) Covelong Beach (D) Al of the abr%we

Match the following :

(@) Jarawas (i) Telangana

() Santhal () Meghalaya

() Khasi (ili) Andaman Islands

(d) Chenchus (iv) Bihar

(A)  (@)~(ii), (b)-(iv), (c)-(d), (d)-(i)
(B) |(a)-(tid), (b)-(1), (c)-(iv), (d)-(ii)
(© (a)-(i), (b)-Gv), (0)-(), (d)-(ii)
D) (@), ®)-v), (©)-), (d)-(i)
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100.
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The Solar Eclipse occurs when :

(A) The Sun comes between the moon and the earth.

(B) The moon comes between the sun and the earth.

(C) The earth comes between the sun and the moon.

(D) The planet Saturn comes between moon and the sun.

Who was the author of the famous book entitled ‘The Indian War of Independence’ ?
(A) Vinayak Damodar Savarkar (B) Vinayak Damodar Agarkar
(C) Balgangadhar Tilak (D) Dadabhai Nauroji |

Take-off stage in an economy means : '
(A) Steady growth _ (B) Stagnant economy
(C) Accelerating growth (D) Great spurt in economy

Which one is the official language of Nagaland ?
(A) Assamese (B) English (C) Hindi (D) Konyak

Which among the following states of India is called as the “Spice gariden of India” ?
(A) Andhra Pradesh - (B) Madhya Pradesh
(C) Karnataka (D) Kerala

To an astronaut in a space - ship, the edrth appearing :
(A) White (B) Black (C) Blue (D) Green

DWCRA stands for :

(A) Development and Work of Rural Areas.

(B) Development of Women and Children in Rural Areas.
(C) District Welfare of Children in Rural Areas.

(D) District Welfare of Children in Regional Areas.

What is the probability of having 53 sundays in a leap year ?
A 1/7 : B) 2/7 Q) 3/7 (D) 4/7

The first Chief Minister of Nagaland was :
(A) P.Shilu Ao (B) -Neiphiu Rio (C) S.C. Jamir I(D) T.N. Angami

Blue baby syndrome is caused by pollution of water by :
(A) Fluoride (B) Mercury (C) Nitrates (D) Sulfur

11 SCSP-21
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110.

Which of the following cities is called “Cotton Polis” of India ?
(A) Coimbatore (B) Ahmadabad (C) Surat (D) Mumbai

In the year 1882 “Theosophical societyy was founded in India at :
(A} Madras (B) Adayar (C) Mysore (D) Hyderabad

Consider the following statements : :
() |The speaker of Lok Sabha has the power to adjourn the House sine die but, on
prorogation, it is only the President who can summon the house.

(i) 'Unless, sooner dissolved or there is an extension of the term, there is an automatic
dissolution of the Lok Sabha by efflux of time, at the end of the period of five years,
even if no formal order of dissolution is issued by the President.

(ii)y The speaker of Lok Sabha remains in office even after the dissolution of the house and
until “immediately before the first meeting of the house’.

Which of the statements given above are correct ?

{A) (i) and (ii) (B) (ii) and (i)

(€) '(§) and (). (®) @) @) and (fi)

| _
In which year did the Arya Samaj split into two sections known as meat - eating and
Vegetarians ? , .
(A) 1879 (B) 1885 (C) 1892 - (D) 1893

The Dzukou valley is a valley located at the borders of Nagaland and
(A) Manipur (B) Arunachal Pradesh
(C) Mizoram (D) Assam

Carb1|an dioxide in atmospheric air amounts to be about : |
(A) 0.0003% (B) 0.3% (C) 0.03% (D) 3.3%
| |
Which among the following race of Indians is oldest ?
(A} Mongoloids (B) Dravidians (C) Astraloids (D} Negritos

Is 34 a mode, a median, a mean or a standard deviation of the following number set ?
293334 34 35

(A) Median (B) Mode

(C) Mean (D) Standard Deviation

i is the second largest religion in Nagaland.
(A) |Hinduism (B) Buddhism (C) Jainism (D) Muskm

SCSP-21 12 A
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114.
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118.

119.

Who led the ‘Ramosi Tribal revolt of 1822" : ; _
(A). Chait Singh (B) Meer Singh (C) Ram Singh (D) Chittur Singh

Which Naga tribe shawl was depicted in a special postal cover released by India post in
Aug. 2021 ?

(A) Ao shawl (B) Angami shawl
(C) Lotha shawl (D) Chakhesang shawl

Which of the following is the largest freshwater lake in India ? : |
(A) Chilka Lake (B) Wular Lake = (C) Pulicat Lake (D) Dal Lake

When a runner was crossing the 12 kms mark, she was informed that she had completed
only 80% of the race. How many kms was the runner supposed to run in the event ?

(A) 14 kms (B) 15 kms (C) 18 kms (F) 20 kms

Who established the ‘Sanskrit College’ in the 1791 CE at Banaras, to study Hindu Legal
System ?

(A) Lord Wellesley (B) Jonathan Duncan

(C) Warren Hastings (D) Lord Rippon

Which of the following are included in the original jurisdiction of the Supreme Court ?
() A dispute between the Government of India and one or more States

() A dispute regarding elections to either House of the Parliament or that of Legislature of
a State

(iii) A dispute between the Government of India and a Union Territory

(iv) A dispute between two or more States

Select the correct answer using the codes given below : :

(A) (i) and (ii) (B) (i) and (iii) € () and (iv) (D) (iif) and (iv)

Hematite is an ore of : ,

(A) Copper (B) Manganese (C) Aluminium ﬂD) Iron

Tuberculosis is very contagious and transmitted through :
(A) Vector (B) Aerial (C) Food (D) Water

By which amendment bill is President’s assents to constitutional amendment bill is
obligatory ?

(A) 29th Constitutional Amendment act of 1971
(B) 27t Constitutional Amendment act of 1971

(C) 281 Constitutional Amendment act of 1971

(D) 24t Constitutional Amendment act of 1971
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128.

The setting up of District Planning Committee is mentioned in which article ?
(A) Art. 243 ZA ' (B) Art 243 ZD -
(C) Art. 243 ZE (D) Art 243 ZC

The average marks of 100 students are given to be 40. It was found later that marks of one
student was 53 which was misled as 83 . The corrected mean marks are :

(A) 40 (B) 45 C 397 i (D) 34

The nomination of candidate for election to the office of p:resident must be subscribed by at
least : !

(A) | 50 proposers and 50 seconders (B) 25 proposer'fs and 25 seconders

(C) 20 proposers and 25 seconders (D) 50 proposer!s and 20 seconders

‘Devanam Priya Ashoka’ was mentioned in the epigraph/edict of Mauryan emperor Ashoka
at: : .

(A) | Yerragudi (B) Peshawar (C) Maski (D) Junagarh
Match the following :
' Five Year Plan Emphasis
(a) - First (i) Inclusive growth
(b) : Second (i) Heavy industry :
(c)  Fifth (i) Agricultural and Community Development
(d) i Elevanth ~ (iv) Removal of poverty

(A) (@) -6). (0)-(i), ()-(iv), (d)-(i)
(B) (&) -(iii), (b)-{ii), (c)~(iv), (d)-(3)
© (@) -@). (b)-(iv), (0)-(i), (d)-(iii)
(D) | (@) (i), (b)-v), (c)-(i), (d)-()

D.D. Kosambi, the author of famous book entitled ‘An In;troduction to the study of Indian
History’, this book was for the first time published in the year :

(A) 1920 (B) 1930 (©) 1950 (D) 1956

Total number of major tribes in Nagaland is : ;
(A) 111 B) 16 © 18 (D) 24

The famous British historian and noted Indologist Arthur Llewellyn Basham the author of a
classical work entitled ‘WONDER THAT WAS INDIA’ died on 27th January 1986 at :

(A) | Bombay (B) London (C) Paris (D) Calcutta
“Bushu” is the primary festival of the tribe.
(A) | Kuki (B) Pochury (C) Kachari (D) Lotha
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134.

135.

136.

137.

138,

139,

The National Panchayati Diwas is celebrated on :
(A) 10t April (B) 14t April (C) 24th April (D) 25% April

Which among the following states of India is famous for saffron cultivation ?
(A) Jammu and Kashmir (8) Kerala
(C) Meghalaya (D) Haryana

Faster and more inclusive growth was the objective of : _
(A) Tenth Five Year Plan (B} Eleventh Five Year Plan
(C) Twelfth Five Year Plan (D} Eighth Five Year Plan

Identify the Vice - Chancellor of Nalanda University during the period of Guptas :
(A) Dignaga (B) Ashwagosha (C) Dharmapala (D) Asanga

Which of the following is a source of income of the Grama Panchayats ?
(A) Income Tax (B) Sales Tax
(C) Professional Tax (D) Levy Duties

Which one of the following languages of Nagaland is Not a Angami language ?
(A) Angami (B) Sumi (C) Mao (D) Chokri

What is the minimum age for contesting in Local Body elections ?
(A) 30 years (B) 21 years (C) 25 years (D) 35 years

‘Peasant movements in India 1920 - 1950" a classical work was written by :
(A) D.N. Dhanagare (B) A.B. Dhanegare
(C) Rajkumar Shukla (D) Laxman - De - Satya

In which year, Nagaland formed as a separate state of India ?
(A) 1960 (B) 1962 (C) 1956 (D) 1963

Identify the personality who was associated with the famous paper entitled ‘Voice of India’
during National Movement.

(A) B.G. Tilak (B) S. Benerjee

(C) Dadabhai Naoroji {D) G. Subramanya Ayyar .
|

To detect obstacles in their path, bats produce : |

{(A) Radio waves (B) Electromagnetic waves:
(C) Infrasonic waves (D) Ultrasonic waves :
15 SCSP-21
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142,
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145,

146.

147,

The unit of. measurement of sound is ;
(A) Decibel (B) Pitch (C) Volts (D) Pascal

Who was the father of the Green Revolution in India ?
(A) B.V.Rao (B) S. Nagarajan
(C©) M.S. Swaminathan (D) Norman Borlaug

i
The famous three volumes on Indian History entitled as ‘History of India’ were written by
eminent British scholar :

(A) JS. Mill (B) V.A.Smith  (C) Robert Sewell (D) Arnold Tynbee

Bharatanatyam, is the oldest Indian classical dance form originated in :
(A) Andhra Pradesh (B) Kerala
(C) Tamil Nadu (D) Karnataka

“Tatva Bodhini” patrika was the brain child of : |

(A) Rajaram Mohan Roy (B) Keshava Chandra Sen

(C) | Devendranath Tagore (D) Rabindranath Tagore
! _

Match the following :

Vitamin Needed for
(a) - Vitamin D (i) For proper blood clotting
(p) Vitamin K (i) Antioxidant protect cell walls
() Vitamin A (iii) Proper absorption of calcium
(d) | Vitamin E (iv) Vision, bone and tooth growth and healthy skin

(A) ' (@)-(iv), (b)~(id), (c)-(0). (d)-(ii)
(B)  (a)-(iid), (b)-(1), (c)-{iv), (d)-(ii)
(©)  (@Hii), B)-v), (©-(1), (d)-(E)
(D) (a)-(ii), (b)-(ii), (c)-(iv), (d)-(1)

What is the main objective of antyodaya programme ?
(A) Uplift the poor (B) Uplift the urban
Q) | Uplift the farmer (D) Removal of unemployment

The Second Five Year Plan has given importance to :
(A) . Agriculture (B) Industrialization
(C) Removal of poverty (D) Self-reliance
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154.
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156.

Who was the founder of ‘Anushilan Samithi’ in the year 1902 ?
(A) Prafulla Chaki (B) Pulin Das
(C) Kanal Lal Dutta - (D) Satish Chandra Bose

In which of the following Indian states/UTs Dogri Language is spoken ?
(A) Sikkim (B) Uttar Pradesh
(C) Jammu and Kashmir (D) Tamil Nadu

Identify the Delhi Sultan who was called as Lakh Baksh by his poets and people :
(A} Balban C | (B) Qutubuddin - Aibak
(C) Alauddin Khilji (D) Itutmish

A common musical instrument played by the Nagas is : :
(A) Flute (B) Violin (C) Petu . (D) Drum

Persons with which blood group are called Universal donors ?
(A) AB (B) Rh < O (D) A+

Who started the Deccan Education Society and the two Journals ‘Kesari’ and ‘Maharatta’ ?
(A) Surendranath Sen (B) Gokhale
(C) Sumit Agarkar (D) G.G. Agarkar

Which leader of Indian National Movement was popularly called by the local people of
Chittagong as ‘Masterdaa’ for his active role in the Non-Cooperation Movement ?

(A) Anant Ghosh (B) Loknath Owl
(C) Ganesh Ghosh (D) Surya Sen

‘Al - Hilal’ paper which had spread the Rationalist and Nationalist ideas among the Indian
Muslims during India’s Freedom Struggle was the Brain Child of :

(A) Al Brothers (B) Khan- Gafoor Khan
(C) Sir Sayyed- Ahmed Khan (D} Maulana -Abul-Kalam-Azad

In the parliamentary form of government, the members of the Council of Ministers are
collectively responsible to :

(A) The Head of State i

(B) The Chairman of the Upper House and the Speaker of the Lower House
(C) The popular House of the Parliament

(D) The Prime Minister
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157. Which one of the following handicrafts is not important of the Nagas ?
(A) Wood - carving (B) Bamboo work (C) Silk weaving (D) Pottery

158. Consider the following statements regarding a No-Confidence Motion in India.
(1}  There is no mention of a No-Confidence Motion in the Constitution of India.
(i) A Motion of No-Confidence can be introduced in the Lok Sabha only.
Which of the statements given above is/are correct ?

(A) () only (B) (i) only (C) Both (i) and (i) (D) Neither (i) nor (i)

159. The famous Parsi religious reform organization named ‘Rehnumai Mazdayasan Sabha’
founded by Dadabhai Naoroji in the year : '

(A) 1857 (B) 1858 (C) 1850 (D) 1851

160. ‘Hampi Ruins’, the famous book on Vijayaﬁagara was written by :
(A). Robert Sewell N (B) T.V. Mahalingam
(C)| Burton Stein (D) Long Hurst

Questions No. (161-165) : Study the table carefully to answer the following questions :
L ! '

Temperature -.
CITY DELHI  |BENGALURU| KOLKATTA lCI-IENNAI MUMBAI

MONT]

January 20°C 15°C 20°C 22°C 35°C
February 21°C 16°C 18°C ; 20°C 30°C
March 22°C 18=C 16°C 22C 32:C
April 25°C 20°C 15°C ' 25°C 36°C
May 28°C 22°C 14°C - 18C 38°C

161. The average temperature of Mumbai is approximately what percent more than that of
Kolkatta ? '

(A) 105% (B) 106% ©) 110.52% (D) 87.21%

162. What is the ratio of the average temperature of Chennai to that of Bengaluru ?
(A) ’ 91 : 89 (B) 107:91 (C) 57:47 (D) 103:95
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163. What is the difference between the average temperatures of all cities in May and that in
February ? : .
(A) 2°C (B) 3°C (C) 10°C (D) 5.8°C

164. What is the difference between the average temperatures of Delhi and that of Bengaluru ?
(A) 8 (B) 7 < 5 D) 11

165. The average temperature in May is what percent of the average temperature in March of the
given five cities ?
(A) 109.09% (B) 89.91% Q) 120% (D) 103.51%

Questions No. : (166 - 170) : In each of the following questions a few statements have been given.
Analyse the given statements and the answers whether the data given in the statements are
sufficient to answer the question or not.

166. Who among the five friends A, B, C, D and E is the tallest ?
Statement (I} : B is only taller than D.
Statement (II) : A is shorter than E but taller than C.
Statement (III) : B is not the shortest.
(A) Statement (II) alone is sufficient.
(B) Statement (I) and (II) together are sufficient.
(C) Statement (), (II) and (III) together are not sufficient.
(D) Statement (I} and (IIT) are sufficient.

167. How many students in a class plays Cricket ?
Statements :
() Only boys play cricket.
() There are Forty boys and Thirty girls in the class.
(A) (D) alone is sufficient where (II) alone is not sufficient.
(B) (II) alone is sufficient while (I) alone is not sufficient.
(C) Either (I) or (I} is sufficient.
(D} Neither (I) nor (II) is sufficient.

168. In which year was Rohan born ?
Statements :
- () Rohan at present is 25 years younger to his mother.

(I} Rohan’s brother Rohit was born in 1964, is 35 years younger to his mother.
(A) (D alone is sufficient where (II) alone is not sufficient.
(B) (1) alone is sufficient when (I) alone is not sufficient.
(C) Neither (I) nor (II) is sufficient.

(D) Both (I) and (II) are sufficient.
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174,

What is the salary of A, in a group of A, B, C, D-and E whose average salary is T 65,780 ?
(Il Total of the salaries of B and C is T 18,545.
(I) Total of salaries of D and E is ¥ 59,020.

(A) Statement (I) alone is sufficient to answer the question, but the statement (II) alone is
not sufficient.

(B) Statement (II) alone is sufficient to answer the question but the statement (I) alone is
- not sufficient, :

(C) ; Both the _statéments (D) and (II} together are needed to answer the question.

(D) | Either the statement (I) alone or statement (II) alone xs sufficient to answer the question.
How is X related to Y ?

Statements :

(D Y Says : “I have only one Brother”.

(I) X Says : “I have only one Sister”.

(A) (I} alone is sufficient where (II) alone is not suff:cxent
(B) | (ID) alone is sufficient where (I) alone is not sufhcmr_]lt.
(C)! Either (I) or (II) is sufficient. |
(D) Neither (I) nor (II) is sufficient.

Which state is the largest producer of oilseeds in India 2021 ?
(A) Telangana (B) Rajasthan
(C) Gujarat (D) Madhya Pradesh

The book "My Journey : Transforming Dreams into Actions’ is the life story of
(A)| Venkaiah Naidu (B) Amartya Sen
(©) Arundathi Roy (D) AP Abdul Kalam

A traditional form of theatre, ‘Shumang Leela’ belongslto which of the following Indian
States ?

(A) Mizoram - (B) Manipur (C) Assam (D) Nagaland

Which women sportsperson won India‘s first Gold Medal in Shooting in Olympics/
Paralympics ?
|
(A)I Anjum Moudgil (B) Avani Lekhara
(©) Kajal Saini ' (D) Tejaswini Sawant
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183.

What is the motto of the 2022 Winter Olympics and Paralympics ? |
(A) Together for a shared future (B) Together for a strong future
(C) Inclusive and Strong (D) Self sustainable Growth

Who has won the Italian Grand Prix 2021 ?
(A) Lewis Hamilton (B) Max Verstappen
(C) Daniel Ricciardo (D) Esteban Ocon

Who won Wimbledon - 2021 men’s final ?
{A) Roger Federer (B) Matteo Berrettini
(C) Rafael Nadal (D) Novak Djokovic

Which film has won the “Best Picture Award” at the 934 Academy Awarids {Oscars) céremony
in April 2021 ? '
(A) Mank (B) The Father (C) Nomadland (D) Minari

Who is the Chief Minister of Tamil Nadu ?
(A) Pinarayi Vijayan (B) K. Palaniswami
(C) V.K Sasikala (D) M.K. Stalin

“DIKSHA” web portal is associated with which Union Ministry ?
(A) Ministry of Agriculture (B) Ministry of Skill Development
(C) Ministry of Labour (D) Ministry of Education

The UN decided to accept the Government of India’s proposal to celebrate the year 2023
as oo oL

(A) “International Year of Education”
(B) “International Year of Oil Seeds”
(C) “International Year of Fishes”

(D) “International Year of Millets”

Which is the highest Gallantry award in India ?
(A) Vir Chakra {B) Vishista Seva Medal
(C) Param Vir Chakra (D) Kirti Chakra

Who among the following is not a recipient of “Dada Saheb Phalke” T.wai'd ?

(A) Raj Kapoor (B) Amitabh Bachchan
(C) Rajinikanth | (D) Amir Khan
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188.

189.

190.

191.

192.

Jeff Bezos is the founder and Executive Chairman of

(A): Microsoft (B) Walmart (C) Amazon (D) Wayfair
The recently launched Akash-NG is a medium-range mobile missile,
(A) Surface to air (B) Surface to surface

(C) Air to air (D)} Air to surface

NISAR Satellite, that was seen in news recently, is to be launched by India along with which
Couhtry ?
(A)  Germany (B) Japan (C) United States (D) Russia

Panjshir Valley is a part of

(A) India (B) Pakistan (C) Afghanistan (D) Tajikistan
Vinesh Phogat is a who participated in Tokyo olympics.
(A) | Boxer (B) Shuttler (C) Athlete (D) Wrestler

|
Which Union ministry launched the “Ease of Logistics Portal” ?
{A)} Ministry of Animal Husbandary and Dairying |
(B) Ministry of Commerce and Industry
(C) Ministry of Home Affairs
(D) Ministry of Agriculture

The Indian Government has launched “Mission Purvodaya for the growth and development
of which of the following specific sectors ?

A) | Textile Sector (B) Mining Sector
24
(C) | Steel Sector (D) Qil and Natural Gas Sector

Which of the following committees recommended a total ban on all forms of private crypto
currencies in India ?

(A) Sarkaria Committee (B) Bibek Debroy Committee
(C) Justice Shah Committee (D) SC Garg Committee

What was the theme of the “World Day Against Trafficking in Persons - 2021”7 ?
(A) ’Victims’ voices lead the way (B) Savelives
{(C) The future we want (D) Educate the people
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Which of the following ministry of Indian Government implements the “Seekho Aur Kamac”
Scheme ?

{A) Ministry of Women and Child Development
(B) Ministry of Labour

(C) Ministry of Tribal Affairs

(D) Ministry of Minority Affairs

Who is the chief of the Army Staff (India) ?
(A) General M.M. Naravane (B) Bipin Rawat
(C) Admiral Karambir Singh (D) Vivek Ram Chaudhari

Who among the following was sworn in as the new Chief Justice of India in April 2021 ?
(A) Justice Ranjan Gogoi (B} Justice S.A. Bobde '
(C) Justice Hima Kohli (D) Justice N.V. Ramana

Who is our current external affairs minister ?
(A) Subrahmanyam Jaishankar (B) Rajnath Singh
(C) Prahalad Joshi (D) Jyotiraditya M. Scindhia

Which city has been named as the world’s safest city from among 60 global cities, in safe
cities index - 2021 ?

{A) Delhi (B) Tokyo . {€) Copenhagen (D) New york

When is the ‘International Day of Non-Violence’ observed every year ?
(A) October 5 (B) October 18 (C) October 2 (D) October 10

The World’s highest Motorable way, which was inaugurated recently, connects Leh to

(A) Ladakh (B) Jammu (C) New Delhi (D) Pangong Lake

What was the rank of India in “Human Development Index according to the Human
Development released by UNDP in Dec. 2020 ?

(A) 140 (B) 136 © 131 | (D) 101
-00o0-
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